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Time: 180 minutes . . Max Marks: 100
Date: 21 Feb 2025 -

Instructions fA&9r:
o There are TWO sections/parts in the question pai)ers}‘f’ QR 7 & T
° Answer all questions. T WRAT & IR &

o Candidates will write their name only on the fly leaf of the answer sheet and not anywhere

clse on the answer sheets, 37872 HIAT AF Fger Feayw QR & orrs N OX &Y
T, seev gfeamr w w3l w3

o Negative Marking - NO marks will be deducted, FTHRTCHSD 3iehaT & T‘ﬁ’l? 3 FEr FIer

SITEETT|

o Incase of any diserepancy, the English version will be cpnsidgred authentic, et o

ﬁ@zﬁ%mﬁ,m#ﬁrﬂwﬁm,mml : 3

SECTION - I (40 marks)
Q.1 When is “Hindi Day” celebrated every year in India? TRe & g3 el "7y
A: 09 February / 09 Wafr : B: 09 September / 09. Rdax
C: 14 December/14 fR@ew: : D: 14 Septembér/ 14 Rdsy

Q.2 Which part of the Constitution contains provisions regarding Official Language?
m#mmﬁm%mﬁmg? -
Al AT 15 B: #TET 22 C: HIT 17 D: AT 25

Q.3 When was the first train steamed off in India? 9T ¥ TR & T Ry 7§ TS

47 '

(A) 1848 (B) 1853

€187 (D) 1880

Q4 Who is known as the father of Indian Railways? STRERT Yor & T & &7 &
a. Lord Dalhousie Fﬁ%‘gﬂﬁaﬁ b. Jawaharlal Nehru- SaTe ot g

¢. Rani Laxmi Bai T&iT oy ams d. Mahatma Gandhi HgreaT aTiefy
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Q. 5 What is the name of the first train that ran in India? MR & Tol arely ggel
& T AT AT R

a. Bombay-Thane Passenger §a8-3m0) UHeT

b. Kolkata-Delhi Express @hIerhTcll-feool TR

c. Rajdhani Express JoTYT=T Tarqosy

d. Shatabdi Express QTcrea) TEFauH

Q. 6 What is the full form of IRCTC? JTSHREET & qoT &9 74T &7 :

A. Indian Railways Centralized Ticketing Corporation
B. Indian Railway Catering and Tourism Corporation t
C. Indian Railway Commuter Ticketing Corporation
D. Indian Railways Cargo and Transportation Corporation

Q. 7 Which is the longest railway platform in India? 8RS &7 Ted war Yo Solewie

FiT | |

A. Kharagpur station TSR FeRMT | B. Gorakhpur station IIRTTR T [

C. Chennai station deeg T D. Hubbali station ‘g’ﬁ‘r?f T ’
P ' o

Q. 8 Which is the first metro rail in India? $IReT &7 Jge AgY el FiaT H 62
A. Delhi Metro f&eelr Rel B. Kolkata Metro ShIeTeRTcl Hel
C. Chennai Metro T&18 #gr D. Mumbai Metro Ha$ gl

Q. 9 What is the name of the high-speed train project that will connect Mumbai and
Ahmedabad? mé-ﬁstauﬁaﬁamwwm%aﬁja%aﬁtwﬁ

Sigan? .

A. Rajdhani Express TISTUTall UsRAUR  B. Shatabdi Express $Tcled] USFEYH

C. Tejas Express oiore TS D. Bullet Train gﬁ? T

Q. 10 What is the name of the Indian Railways' mascot? $TRel YeTd & [HEAT I
A. Bholu &Te, : B. Chhota Bieem Vel HIH

C. Motu Patlu I Ude] ~ D. Tomand Jerry €1 U8 ST

Q. 11 Which of the following is the capital of Arunachal Pradesh? R=ifaf@a & &
FleT A IROTTEEr WaRT T IR §?
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A. ltanagar ST B. Dispur feqy

C. Imphal SHTH . D. Panaji 9ors

Q. 12 The hottest planct in the solar system? WNFHST &7 TId 7T qg &7

(a) Mercury Y (b) Venus 2[sm

(c) Mars Harer ~ (d) Jupiter FEEUTY

Q. 13 Which of the following is not a nuclenr power center? RFfaITRT 7 & FhT @r
- AN FAT g FET §0

() Narora sIRRT * (b) Kota =¥eT

(¢) Chamera TR ., (d)Kakrapara SERTIRT

Q. 14 Friction can be reduced by changing from % & 7 & SedramT oo 35 T3y
T ST Hewer & ‘

Awrolling to sliding Afdfer T Femefar

Bisliding to rolling Femgf3er & Qfdfer
- C.dynamic to static ITfa=ler @ Ry

D.potential energy to kinetic energy T Foll & TS Fatt

Q. 15 Professor Amartya Sen received the Nobel Prize in this field, SIheR 38 3

T 50 O H e R e
a) Literature I3y o b) Electronies sﬁaﬁﬁw
¢) Economics 3refemes d) Geology &ffa=i=r

Q. 16 Which of the following musical instruments is played by Amjad Ali Khan?
ﬁmﬁ@aﬁﬁaﬁammwmmwa@mmmﬁ |
a) Veena ST b) Tabla FeelT
¢) Sarod . &I d) Guitar feR

Q.17Dr. V. Kurien is famous in the field of T & FRIT F 87 7 ufdg
gl

a) Atomic power T e b) Dairy development ST sy

) Economic reforms 3 gerw d) Poultry farms QregY ey

Q. 18 Who created the famous Rock Garden of Chandigarh? W2RTe 7 TR AF
ST R SR am

a) Gaudj iy - b) Saarinen R

a

UYL i) L e S

By

T e T T

T

o
¢ .
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¢) Krishnarao Jaisim &HSUTRrer SR d) Nek Chand o TG

Q. 19 The biggest'part of the brain is AITASH &1 AFH I3 HIT g
a) Spinal cord qF & g b) Cerebellum JRIFTH

¢) Cerebruti | d) Brain Stem 3% A

Q.20 NASA’s most famous space telescope goes by the pame? ST F v TG
HANET T A FH F4T 8

a) Muble Satellite Telescope 3{5? HearsT E‘oﬁﬁiﬁ

b) Hubble Space Telescope §HeT TIH TOIRhIT

c) Humble Space Telescope &Fael HANET TolreenT

d) Galaxy Satellite Telescope IR Hose TohEmIT

Q.21 At room temperature, which is the only metal that is in liquid form? FAX
AR WX T U CRA U1 ¥ S eRe 9 H el §2

aj Iron WgT b) Aluminum TegHIaa

¢) Silver =T d) Mercury 9RT

Q. 22 This scientist is well known for his theory of relativity. Who is he? I& CEIEEC
HIr AT % g & v ufg g w8 A

a) Thomas Alva Edison 31@'(‘: SEEST  b) Albert Einstein U477 3iear Tisde
'¢) Marconi HhimT d) James Watt S0 drc

Q. 23 Which is the country which has the Great Barrier Reef? 3¢ 8RR {1 arer 221
FlT AT §?

a) London wigel . b) Australia KirsaAce
¢) Ireland oIS d) New Zealand =ggiiels

Q. 24 Deficiency of which of the following vitamins causes the disease of slow blood

clotting? et 3 ¥ g o v =i & o &1 yF0 FAA & DA B
EICIR

A) Vitamin C T&erf# & B) Vitamin D fdeT#@a 31

C) Vitamin E T3ei@a § D) Vitamin K faar@e &

25, The sum of three cox;sccutive odd numbers-is 45. Find the smallest number. QleT

SRITAR FareT el & Qr 45 1 Tt oy TR e P -
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a) 13 b) 15
c) 11 d)9

26. If the perimeter of a square is 48 cm, what is the Iength of one side? Ufe R a9t

amqﬁmtr‘zsa*m%a’rwsgmﬁméwév
- a)10em b) 12 cm
¢c) l4-cm d) 16 cm

27. A train travels 240 km at a spced' of 80 km/h, How much time will it take? T

Wnasommﬁm%ﬁmmﬁmm%l 0 fraaT wFg

I _
a)2hours /26 b) 3 hours / 3 T
)4 hours /4 EFE d) 5 hours /5 €E )

28. If a person walks at 5 km/h for2 hours and then 4 km/h for 3. hours, what is the-

total distance covered? 9fe; 1§ safeRT 2 6T 5 Rpefyfeier v 71y & worar & 3K RRe
'3w4mmﬂwﬁﬁm%,a}mﬁﬂ?ﬁq&mﬁmé°

a)22km b) 23 km

¢) 24 km . d)25 km

29. Fill in the blank Heis____ honest person.
aa ‘byan -

c) the d) none -

30. Who was the first President of India? IRT & Ygel TSgafa Hist 4
a) Dr, Rajendra Prasad T, {roig SIS b) Jawaharlal Nehru STaTgalTer Hg®

¢) Sardar Pate] TG q%sr d) B.R. Ambedkar ¥T.3. 3idEaT -

31. Which Indian state is known as the "Spice Garden of India"? ﬁh’ﬂ' WRFﬁ’I AT & .
"$TRE ST FATEIT JeET" gl ST §? - ;
. A)Kerala 3weT b) Karnataka selies: f
¢) Tamil Nadu Hﬁﬂ?ﬂ:s’ d) Assam 3¥qH !
32. What is the state capital of Uttarakhand? 3ceRT@S T Teaniy ER]T e ‘
a) Dehradun Sg_Tgs b) Haridwar gRear ;
b
¢) Almora HeHIST d) Rishikesh Fzf¥erer ;
33.1f the cost of 5 pens is ¥75, what is the cost of 8 pens? TRE 5 UaT Y AT 3758, ar £
897 i Frev . gl
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a) T100 b) 2110
¢) 2120 d)z125

. 2T
34, The average of five consecutive numbers is 27. What is the highest num ber? 91
FHARTT oATsit @ e 27 ¥ v 9 dEa w4 82

2) 30 b) 29
¢) 28 d) 31

35. A train 150 metres long is running at a speed of 60 km/h, How long will it take t?
cross a pole? 150 HeT oY W &1 60 Rrafvdier iy a1y ¥ T Wy &l UF T
&I UR e A 3H PR aew weem

a) 9 seconds / 9 W 'b) 8 seconds / 8 §FHE
¢) 11 seconds/ 11 ¥hs d) 12 seconds / 12 s

36.If 12 men complete a task in 10 days, how many men are required to complete itin 6 -

days? IS 12 AT TRl et 1 10 e 7 qr o= &, 9 39 6 e F o
wﬁ%ﬁvﬁaﬁmﬁﬁmmm

a) 18 b) 20
c) 22 d)24 -

37. The ratio of the present ages of A and B is 5:7. If B is 6 years older than A, what is

B's age? A 3 BN GeRT 3 HT 391 5:7§1 1% B, AT 69 =37 &, B
T G FAT 80

Ca)24 years/24aY . b)30 years/30§§
- ©)27 years / 27 aY d)21 years /21 a¥

38. Who was the first Indian to receive a Nobel Prize? SYdel QR Iy Tl Tger
IR HileT A2

a) C.V.Raman HI.dl. TH °  b) Rabindranath Tagore {dTg=TTy E90%
c) Amartya Sen 3T A d) Mother Teresa FGT IET

39. Who is the current Chief Justice of India? 811'{?[.35 CREIGE q&g OITIRT Sl %”
8) Justice Dhananjaya Yeshwant Chandrachud ##fc Uesrd WA doas
b) Justice Uday Umesh Lalit Fﬂmﬁ 3T IAY dfeig
¢) Justice Sanjiv Kllannam?iﬁ' Hlla @
d) Justice Altamas Kabir #IHd Heaamd HdR

40, Who was appointed as the Chief Election Commissioner of India in February 2025?
wﬁrzozsﬁm%gmww%mﬁmﬁgﬁﬁwm
a) Rajiv Kumar TRIT FAR ' b) Gyanesh Kumar F=181 §1R

c)
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¢) Vivek Joshi faas Sy d) Sushil Chandra {Rnﬁ B

"

SECTION - IT (GO marks) . . ,
Q 1. Select one correct option (1% 10 =10 marks)

a. What is the name of joint if tle two members being welded are in the same plane?

ﬁwﬁﬁﬁﬁmﬁﬁ%mﬁmwwmé?
A: Lap joint / AT SHige B: Tee joirit /& S
C: Butt joint /. ¥ SEe D: Edge joint /TsT Sige

b. What is polarity in welding? 378 & waidr sy ¥
A: Cireuit of current / T T Gipe

B: Direction of current/ e T T

C: Open circuit of current / e Fr ol |ffc

D: Opposite direction of current / e 1 Riqdie e

¢ Which test indicates the hardness of ametal? 7 &7 ¥ ol e v FoRer #r
A: Brinell test / oA e B Tensilete:st/é'ﬂTir'Ff%Q?.r
C: Charpy izod test / g4} {T§ Gﬁg T D: Ultrasonic inspection / JegqIilF T

d. Which are the common alloying element of brass? Tad & 31 fAygy EKIER K] )
A : Copper and tin /e 3R fe B : Bismuth and tin / T9eqY 3R fo=
C: Antimony and tin/ TeAF (R RF D Copper & zinc / TIAT 3R ST

e. Hertz is a unit of .......... /g5 ......... feFs Y ‘ |
A: Conductance / HaTgear * B:Frequency/ 3ﬂqﬁ'
C: EMF /THU D: Electric Charge / fagqe aie f

f. The testing method which makes use of SOUN WAVES IS survriserss] srervensene S T T
SUGRT R areft adtaror Ry £

A: Magnetic particle testing / P II HU] 5T B Ultrasonic testing/ mﬁm SIEl

C: Impact testing / WHId jaanch D: Micrographic testing / Wmm

EAP o e oy

e, ——

=
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g. The color of the oxygen gas cylinder is _. JrfeRger RifreT o1 ___'Eﬁﬁ%
A: Orange / TRl B: Black / SIell C: Pink / TEITal! D: Blue/

h. The unit of electrical resistance of a conductor is GG yfeRer &1 gHE &

A) farad S B) volt deT
C) ampere TR D) ohm, 3TH
i, Which cycle is used in steam power plants? 379 Rty st # R T T 3TART
orar ST &7
a) Otto cycle 3f1eT W b) Rankine cycle {feT T
¢) Diesel cycle ISTal T&h d) Carnot cycle FATC T

(Vi
i

j. A liquid preparation that dries to a hard lustrous coating is ... T T IRy S
Ue FOR THFER HifeeT & T g@ Sl § '

A) Wax /9T : b). Primer/ WTEFR
B) Varnish / QIS d) Sticker / TT®T

r

Q.2 Answer any 6 of the following in brief =TI 7 3 fwel 6 &1 WaTT H 3 g
(5 marks * 6): '

(i) Explain the difference between a motor and a generator Hiex AR SF#Rex &
(i) What are the major classifications of machine tools? #3 Eo & eI a9TientoT

FATE?

(ifi) Explain the working principle of an Internal Combustion (IC) Engine. H]‘é.?ﬁ'. &S &
F TAgid, $r e #
(iv) What are the different types of gears and their applications? faffiest ¥R & faRR 3R

(v) What are the different types of bearings and their uses? fafde=t WeR & fe@iar 3iiX
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(vi) What are the different types of manufacturing processes? fafder werr fr fafevsfor

(vii) Explain the different types of heat treatment processes and their significance. You may

also mention industrial applications, fTesy TN Y d19 I9ER gt 3 s
HEed HT SAREAT FY| I SN SN S o S v wY ¥

Q. 3 Answer the following in detail ﬁmﬁ@awmwaaﬁ?}. (10 marks *
2);

a, What is Hooke's law? Use a stress-strain curve to assist your answer., §$Eﬁr EGEea

mh%mﬁm%mm-mmwmaﬁl

b. Explain the concept of thermodynamics and its key laws, FSHIHET A HIUROT 347
$8F e Tt A amer sy '

**END OF THE PAPER**
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